BT KE 100 2 F A 3148 4 A XA

AR EREIREA B H OB H o=
FRAY2 A28 B(EEH—) £28 ARAE 4 A ) "

Page 1

. Arigid horizontal bar is supported by a hinge at A and by two steel cables BD and CE,
which are of equal length, Z= 0.8 m, and cross-sectional area, A = 140 mm?. Please
calculate (a) The elongations of cables BD and CE. (b) The stress in each cable.

Assume £ =200 GPa. (25%)
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2. Aforce P and a moment M, are applied at the free end of a cantilever beam of uniform

cross section. Determine the deflection and slope at B. Assume P=20kN, M, =5
kKN-m, L =2 m, and EI= 10 MN-m*>.  (25%)
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3. The state of plane stress at a point P on the element. Please determine
(a) The principal stresses and orientation.

(b) The maximum in-plane shear stresses and associated normal stresses.

Show all results on sketches of properly oriented elements. (25%)
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4. The T-shaped cross section cantilever beam is acted upon in its plane of symmetry by a
force 6 kN shown as below. Please determine the maximum normal stress T 1

the beam. (25%)
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